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Part A – Objective Type Questions (in bunches of 4)
I.
Choose the correct alphabet only.

1.      There is a proportional relationship between consumption and disposable income


(A) When the APC is the same for all levels of disposable income


(B) When the consumption function is a straight line through the origin


(C) When the MPC is equal to APC for all levels of disposable income


(D) All the above

2.      If the saving function is S = -20+0.2Y, then the MPC is


(A) 0.8         
(B) 0 to 1  
(C) 0.2
(D) cannot be calculated

3.      We expect to receive Rs.l00 from a machine in a year's time and the rate of interest is 5%. Then the present value of this machine is


(A) 9.5
(B) 90.5 
(C) 95.24
(D) none of these

4.      Marginal propensity to consume is


(A) change in consumption /change in income


(B)  1 -Marginal propensity to save      


(C) change in APC / Change in income 
(D) none of these

(Weightage 1)

5.      If an increase in consumption purchasing by Re. 1 requires a capital of Rs.3, then the accelerator is


(A) 3/1 
(B) l/3
(C) 3/3
(D) none of these

6.      The objective of monetary policy is


(A) To control cost and supply of money



(B) to print notes of desired denominations


(C) To provide loan to government  
(D) All the above

7.      The long run Phillip's curve


(A) is vertical
(B) Shows the tradeoff between inflation and unemployment 
(C) indicates natural rate of unemployment 
(D) both A & C

8.      Demand pull inflation is the result of


(A) excess aggregate supply over excising demand
(B) Excess of aggregate demand over excising supply.
(C) Rising wage rate 
(D) rising tax rate
(Weightage 1)

9.      During the stage of liquidity trap, the speculative demand for money is 


(A) low  
(B)zero 
(C)high
(D) infinite

10.    Simultaneous equilibrium in goods (IS) and money (LM) market exist


(A) At an unlimited number of output levels and rate of interest
(B) At only one output / income level and rate of interest
(C) At an unlimited number of output levels and only one rate of interest
(D) none of the above

11.    Crowding out effect is associated with


(A) Fiscal policy
(B) Monetary policy
(C) Central Bank
(D) none of these

12.    The term super multiplier is coined by


(A) JM Keynes 
(B) Hawtray 
(C) JR Hicks 
(D) Milton Friedman
(Weightage 1)

13.    Autonomous investment is


(A) Income elastic 
(B) Interest elastic
(C) determined by the growth population and technology 
(D) Both A & B

14.    The relative income hypothesis is closely related with the name of 


(A) J S Duesemberry
(B) Milton Friedman
(C) Keynes 
(D) Modiglinani

15.    According to W J Baumol transaction demand for cash


(A) varies directly with income
(B) varies inversely with rate of interest
(C) Both A & B
(D) none of these

16.    Inflation means


(A) a short term rise in the price level
(B) a continuous and sustained rise in the price level
(C) an increase in the supply of money
(D) none of the above
(Weightage 1)

Part B - Short Answer Questions
II.
 Answer any five out of eight, not exceeding 50 words.

17.
State the relationship between MPC and MPS. Given the consumption function C=50+0.8Y, Y=Yd  calculate the value of MPS.

18.
Suppose I=Rs.20, C=Rs.l40+0.75Yd, Yd=Y. Find the equilibrium level of income.

19.
Explain IS curve with suitable diagram.

20.
What is COR? Is the COR constant over time?

21.
What is an investment Function?

22.
What are the different measures of money supply in India?

23.
Give algebraic Illustration of money multiplier.

24.
Explain inflationary gap with suitable diagram.
(Weightage 1 × 5 = 5)

Part C - Short Essays
III.
Answer any four questions not exceeding 150 words. Each question carries 2 weightages.
25.
Derive an IS schedule for a two sector model. What are the factors that influence the slope of IS curve?

26.
What do you mean by technical attributes of consumption function? From the given income-consumption data, find APC and MPC.

Y:
300
400
500
600
700


C:
300
380
460
540
620

27.
Discuss the important steps in the estimation MEC.

28.
Explain induced investment graphically.

29.
Explain cost-push inflation with the help of diagram.

30.
Explain Tobin's portfolio selection model of demand for money.
(Weightage 2 × 4 = 8)

Part D - Long Essays
 IV.
Answer any two questions not exceeding 450 words.  Each question carries 4 weightages.

31.
Critically examine the accelerator theory of investment.

32.
Explain absolute income hypothesis. What are the recent modifications on it?

33.
'Phillips curve explains the tradeoff between inflation and unemployment.' Discuss.
(Weightage 4 × 2 = 8)
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